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State if the given angles are coterminal.
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State the quadrant in which the terminal side of each angle lies.
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Convert each degree measure into radians and each radian measure into degrees.
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Use your unit circle and find the exact value of each trigonometric function.
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Solve each triangle. Round answers to the nearest tenth.
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29) Given the following point. Graph and find all six trigonometric functions. State the reference angle.
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30) Given the following point. Graph and final all six trigonometric functions. Find the reference angle.
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Find the length of each arc.
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Using radians, find the amplitude and period of each function.
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Graph each function using radians.
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47) An aircraft approaching an airport descends 48) A building shadow is 98 meters long. The
with an angle of depression of 4°, If the angle of elevation to the sun is 14.5°. How tall
horizontal distance from the airport is 2 km. is the building?

How high is the aircraft at this point? Zfﬁ
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2. The lower base angles in the isosceles trapezoid each measure 45¢, The length of the shorter
base is 10 inches and the altitude is 8 inches. Find the length, in inches, of the longer base.
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3. Given the picture below, find the lengths of the segments labeled x, y; zand q.
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4. A man is walking his dog on level ground in a straight line with the dog’s favorite tree. The
angle of elevation from the man’s present position to the top of a nearby telephone pole is 30e.
The angle of elevation from the tree to the top of the telephone pole is 450, If the telephone pole
is 40 feet tall, how far is the man with the dog from the tree? Express answer to the nearest
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